
Tên: 　　　　　　　 Ngày tháng: 　　　　　　 Điểm: 　　　

bốn số nguyên, thứ tự các phép toán

2 + 2 − 8 × 6 = 10 − 2 × 7 + 9 =

6 + 3 + 7 × 5 = 2 + 1 × 3 ÷ 1 =

11 + 8 × 6 + 5 = 2 − 42 × 8 ÷ 6 =

2 × 9 ÷ 1 − 7 = 2 − 9 − 10 × 2 =

8 + 8 + 11 × 4 = 88 × 7 ÷ 8 − 6 =
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Tên: 　　　　　　　 Ngày tháng: 　　　　　　 Điểm: 　　　

bốn số nguyên, thứ tự các phép toán

2 + 2 − 8 × 6 = (−44) 10 − 2 × 7 + 9 = 5

6 + 3 + 7 × 5 = 44 2 + 1 × 3 ÷ 1 = 5

11 + 8 × 6 + 5 = 64 2 − 42 × 8 ÷ 6 = (−54)

2 × 9 ÷ 1 − 7 = 11 2 − 9 − 10 × 2 = (−27)

8 + 8 + 11 × 4 = 60 88 × 7 ÷ 8 − 6 = 71
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